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/* equations */
eql: [3.1*t1-t2=210, -t1+2.1*t2-t3=10, -t2+2.1*t3-t4=10, -t3+3.1*t4=610];

/* temperature */
T:[t1,t2,t3,t4];

[* BREATHID R */
Ab: augcoefmatrix(eql, T);

[* AR ZELUILTHS */
echelon(Ab);

/* solve */
solve(eql, T);

[* FEWIERZ /AR TRTI S Y/

float( solve(eql, T)),numer;
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/* equations */
eql: [3*t1-t2=200, -t1+2*t2-t3=0, -t2+2*t3-t4=0, -t3+3*t4=600];

/* temperature */
T:[t1,t2,t3,t4];

[* BREATHIDIRR */
Ab: augcoefmatrix(eql, T);

[* AR ZELZLTHSD */
echelon(Ab);

/* solve */
solve(eql, T);
[* W RZ/NIRTRITT S */

float( solve(eql, T)),numer;
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